Which of the following statement 1s nof

correct? — >5C J W

(1) Vapour pressure of solvent ——
containing non-volatile solute is less 0 p
than the vapour pressure of a p <

solvent. v
(2) The relative lowering of vapour P

. )
pressure 1s equal to the mole @ . }\/p
fraction of the non-volatile solute.

(3) Thelawering of vapour pressure of

amount of the solute particles
present 1n 1t.

a solution does not depend on the G vole @7 $of—
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(4) If mole fraction of the solvent in \/
a solution decreases, then vapour P '

pressure of solution decreases.
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If P and P are the vapour pressures of > ABLES -

solvent and solution, respectively, and p f - Pg )\g _ )/2
N,and N, are the moles of solute and 72 = - =
Solvent then > A /\/ .|-/~./)_
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M+A/L
(3) P P XN, /(N, +N)
=~ O fﬁ e —?W

ﬂ ) X“()BX/; 7

f N
i L
Ps l\




The vapour pressure of a solvent ABLES .
decreased by 10 mm of Hg when a .

non-volatile solute was added to the Xg=0

solvent. The mole fraction of solutein X g . p. g

solution1s0.2. What would be the mole

fraction ol solvent if decreaséin vapour

pressure 1s 20 mm? M/)ﬂ pS }omm - (a{p@
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The relative lowering of vapour pressure -0 ABLES -
of a solution of 6 g of urea in 90 g of P; , ﬁ, ' X
water is close to @ L - —= 7h
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»_Q% glucose solution and 2% solution . ABLES o
of X show same relative lowering of & A- /)S — g:
vapour pressure Assuming X to be a — €= )(@
o

non-electrolyte molecular weight of X is ﬂA
(1) 30 0

(4) 180 xR = XO‘
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Freezing point of the solution which has ABLES .

0.1 mole of sugar dissolved in 250 g A/’—f - m /<b.

water 1s (freezing point depression , ,
constant for water is 1.86°C/molal aTf - _/0/0_ . /‘ b
(1) -1.86°C Tf"‘ (2) —0.460°C Makfof 0. ) ve
(3) —0.744°C ’ (4) —0.460°C
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100 mL of a liquid A was mixed with 25
mL of aliquid B to give a non-ideal
solution of A-B mixture having positive
deviations. The volume of this mixture

would be
(1) 75 mL

(2) 125 mL
rast more than 125

(4) just close to 125 mL butnot

exceeding 125 mL
».—‘-




Mixture of volatile components of A , . ABLES .

and B has total vapour pressure P S= f A Xﬂ T PB 7\@
P =254-119x (x = mol fraction of B) Xpg= )-X
Hence P, and P, are L f g(
(1) 135,254 (2) 119, 254 ()S . P (I-Xg) +P; %g
(3L 257, 135 (4) 135,119 . .
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For an ideal binary liquid solution, the f 7 X . ABLES -
versus x , (mole fraction of s = 1A /“'/g (l" X/})

plOt Of total

liquid A) 1s linear with slope and '0" X 0 »

. —_— - - X

intercept equal to /‘)S _A_ﬂ ' f§ fLﬂ

() P,=Py. P, /W/E—P,_;:P; o e
S s = Xﬁ {/ﬁ - pg) + Pg

(3) P,-P,.P, (4) P,-P, P [
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l ﬂol_ A + 3 mol B (volatile liquids) are 7
in a mixture. P, =300 mm and P, =100 =

w / .
mm. Mol fraction of B in vapour state

above the solution 1s
(1) 0.75 (2) 0.25

M (4) 0.66
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